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Addendum to Blackburn and Bos' 

Gothenburg slides 
 
 
 After slide 13: 
QUESTION 1: Draw a DRS for each of the two readings of the sentence Vincent did not 
dance with a woman.  
 
 
 After slide 16 (from Malaga2.ppt): 

DRS can be viewed as a first–order language without explicit quantifiers: 
 

 
        ∃x [man(x) & smoke(x)] 
 
 
 
 
   
              ∀x [man(x)  smoke(x)] 
 
 
 
 
 After side 24: 
QUESTION 2: Draw the DRS(s) corresponding to the following sentences and explain why the 
pronoun can or cannot refer back to the intended antecedent. (Partly based on Malaga2.ppt, 
slides 25-32.) 
 
(1) Vincent danced with a woman1. She1 was pretty. 
(2) Vincent danced with no woman1. * She1 was pretty. 
(3) Vincent did not dance with a woman1. __ She1 was pretty. 
(4) Vincent did not dance with the woman1. She1 was pretty. 
(5) Vincent did not dance with Mia1. She1 was pretty. 
(6)  If a student1 is-good-at-logic, he1 does-well-in-semantics. 
(7)  Every student that bought a cat1 took it1 to Dr. M. 
 
 
 After slide 29: 
QUESTION 3: Draw the DRSs of the following two sentences, and then do the translation from 
DRS to FOL applying the procedure sketched in the slides.  
 
(8) If a man1 finds a treasure2, he1 shows it2 to every friend of his1. 
(9) Every woman that found a dog1 gave it1 to a boy or a girl. 
 
 After slide 30, if time permits: 

Definitions of embedding semantics, book pp. 17-18. 
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